B Time allowed: 45 minutes

B Part A: 20 mulitiple-choice questions (40 marks)
B Pagt B: 5 free response questions (60 marks)

Part A
20 multiple-choice guestions
2 marks each: 40 marks
Circle the correct answer,

1 Simplify v/7 x V10,

A V17 B 70
C 17 D 70

Simplify v/6 + 3/6.

A 46 B 3/12
C 18 D 108

Simplify v6 x 3v/6.

A 46 B 3/12
C 18 p 3

Which one of these numbers is rational?
A 0.30712... B 27
C V40 D 0.id

Simplify (5v/3)%.
A 1S B 253
C 75 D V15

Simplify 4/120.

A 230 B 2./60

C 3V40 D 620
Simplify 2v/2 x 8+/8.

A 16 B 64

C 10V/10 D V32
Simplify 3v/3 + 6v/7 — 2/7 + 2/3.
A -13 B 1821

C V3+4V7 D 53 +4v7
Simplify v45 — 2v/5.

A V5 B V35

C 75 D 410

10 Simplify (v/5)°.
A 5V5
C V15

11 Simplify v/15 x /5.
A 210
C 53

12 Simplify@

6v2
V5

A
2

C 45

13 EBxpand v6(2v/2 — 6).
A -2V6 B
C 42 —6V6

14 Expand \/5(\/§+3\/§)
A 2V/6+6 B 2v6+9
C 12249 D 122 +27

15 Simplify 4Y2x 5VI0
2v/5
A 20 B 40
.95 2013
€5 b=
16 Expand (2 + \/7)(1 - V7).
A9—7 B -9-+7
C-5-V7 D 5+3v7
17 Expand (4 — v35)(4 + V/5).
A -9 B 1t
C 21 +2V35 D 21 -2V5

18 Expand (4 + v/10)%,
A 26 +4/10
C 116 + 410

B 26 + 810
D 116 +810




Topic test 14: Surds continued

19 Expand (3 — v2)(3 + v/2) 22 (6 marks) Judy approximated the value of
A ll-3v2 B 11 —-6v2 some surds on the number line using the
Cs D 7 following construction.

Rationalise the denominator of —3—
V6
B 3 \2/5 x L\ {1

A

D

o5 M-

b2

C

a Find the value of x as a surd, showing

working.
Part B
5 free-response guestions
60 marks L
Show working where appropriate. b Hence, find the val

21 (20 marks) Simplify each of these tasa surd :

expressions.

A (Va)

ii as a decimal round

B Jux. /5

C (5v2)°
( \/—) 23 (10 marks) Simplify each of these

eXpressions,

p V72 a V12 x24/3

E 27 b 4v/5 x 2/6

F 332

G 275

H 540 d@

2V5

I63+5/3—3

J V32 4+ V08
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Topictest 14 - YT ﬂ

B Time allowed: 45 minutes
E Purt A: 20 multiple-choice questions (40 marks)
‘W PartB: 5 free response questiqns (60 marks)

Part A
20 multiple-choice questions
2 marks each: 40 marks
Circle the correct answer, -

1 Simplify v7 x v10. .
A VT @V
C 17 D 70

2 Simplify v/6 + 3/6.
@ve
C 18
3 Simplify V6 x 3+/6.
B 312
D3

B 312
D 108

4 Which one of these numbers is rational?
A 030712, .. B 2#

(&7 ()o.id

5 Simplify (5v/3)%.
A 1S X®25v3.
D Vis

6 Simplify +/120.
V@ 2v30
C 340

7 Simplify 24/2 x 84/8. -
A 16 /(B 64 16 i
C 1010 D V32 e
8 Simplify 3v/3 + 6v/7 - 24/7+2¢/3.
A -13 B 18v2l .
cvi+avT VD514
9 Simplify v45 — 2¢/5. Wk -2
D5 1R K
C7Vv5

B 260 | xBo
D 6v20

2430

B V35
D 410

sRtuly

J5 285 x0s

10 Simplify (v/5)".
V(B)s/5
C V15

11 Simplify 15 x /5.
A 2/10
/©sv3

12 Simplify

B 15
D /125

B 25V3
D 75

/105 ~

13 Expand v6(2v2 — 6).
A -2v/6 B -4/6

Cavi-66 VB4/3-6/6 _{{BH%
14 Expand v3(v/8 +3v3).

Qi +3%3
A 2V6+6 B 2649 B

C 12/3+9 D 12v2 427 26+
o
L e 442 % 54/10
15 Simplify 2Y2x5V10
/Hfiplfy 5
(&20

9v3
€=

16 Expand (2 + \/’?)(1 — V7). 2 2]+
A9 — \/'7 B -9 - \/7 _\r s
v (C)-5-v7 D 5+3/7

17 Expand (4~ V5)(4+ V5). 16-5
A /Bt
C 21 +2v5 "D 2125

18 Expand (44_\/15)2‘ _ AT S ((RALS.
A 26 +4V10 @26-1-3\[16 .
C 11644410 D 116 +8vI0

;ij&r_ﬁ”@@



Topic test 14: Surds continued
- 19 Expand (3 — v2)(3 + v2) 9%
A1l1—-32 B 11—-6v2:

cs. /B 7

3 -
20 Rationalise the denominafor of —. © Je

e

1 /6 .

2 B f{g’f
3

‘/@3‘/—6 D3

A

Part B

5 free-response questions
60 marks
Show working where appropriate.

21 (20 marks) Simplify each of these
expressions. :

A (a)®
=q

B xx . 5
r

C (5v2)
2552 =50 /

D V72
J3e
. gjﬁ /
E V27
ARERE
<z v

F 332
36 %2 /
2x4xrp =12z

G 2V75 4 fos x13
2x sxf3

w3 -
54
H 05;( o ’f]{&

w e _
I16V3+5/3-V3
T w©fF
T V32 + /R
qﬁﬂ'ﬁ/
Wy

22 (6 marks) Judy approximated the value of
some surds on the number line using the
following construction,

a Find the value of x as a surd, showing
working,
2 2,7
= LA
b

b Hence, find the.
i asasurd

ii asadecimal }oun
places.
U=ty
JJ;']:-D’-)\OS ..
1

12 /

23 (10 marks) Simplify each of these
expressions.

a V12 x24/3

=\
b 435 x 2/6
@« Jz0

e V2(4/7 - V2)
w-2




